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4, Let again
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Find the value of the integral of this vector field: / * 7

(a) From (2,1) to (—3,4) along any path not passing through the origin.
(b) From (2,0) to (0,2) along the circle of radius 2.

tc) From (2,0) to (\/5, ﬁ) along the circle of radius 2.
(d) All the way around the circle of radius 2.

15. Find the integral of the vector field

—y % ;
G e e o
(x, .}’)‘ (xZ +9% X+ yz)
(a) Along the line x + y =1 from (0, 1) to (1, 0).

(b) From the point (2,0) to the point (—l,ﬁ} along the path shown on
the figure.
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16. Find the integral of the vector field (x, y?, 4z%) -anng the path shown on the
figure, from the point (0, 0, 0) to the point (1, 1,2).
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